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I~ E—
= }b: 112,541 kWh/ £ 20,738 kWh/ £ 51,872 kWh/ £
HER=E
51,872L X 371.1MJ/L X 0.8/3.6 MJ/kW/3.8(SFMCAZHECOP) =112.541kWh/ £ 51,872L X 371.1MJ/L X 0.8/ (46.4MJ/kg X 2.03 (B EEkg/m3M0.8=112.541kWh/ 4 E=iEE
15 M.~ kWh 150 M. m3 60 MR- L
IRJILF—XE 1,688 FARAFE FHAFE FAAF
112,541kWh/4E X 15 =1,688F /4 20,738m3/FE X 150/ m3=3111FM/&F 51,872L/% x60M/L=3,112A/4
IRJILF—aXRLE A1,424 FHAHF A2 FA = B
38 t-CO2. 4 126 t-CO2. 4 141 t-CO2. 4
CO2HFtHE
112,541kWh X 0.339kg-C02/kW) /1,000 (kg/t) =38t-CO2/ 4 20,738 x 2.03 (Ipg-kg/Ipg~m3) X 0.003 (t-CO2/Ipg—kg) =126t-C0O2/%F 51,872 (L/4E) x2.71 (kg-CO2/L) 1,000 (kg/t) =141t-CO2/4F
CO2HFH B HIFE A102 t-CO2. % A4 t-CO2. % H#E
—RIFIILE—EAE 28 KL% 54 KL% 52 KL%

112,541MWh/4E % 0.252 (kL/MWh) =28k L (J&i#)

20,738(m3) % 2.03(kg/m3) 1,000 (kg/t) X 50.2(GJ/t) x 0.0258 (kL/kJ) =54kL/4F

51,872 (L/4F) % 1,000(L/kL) x 39.1(GJ/kL) % 0.0258 (kL/kJ) =52k L/
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BARNE (RAED) 23 KW 448FH 22 KW 434FF8 23 KW 448FH 23 KW 448FH
BEFC-0 3297 kWh 51FMH 2,748 kWh 42FA 3297 kWh 51FA 3,297 kWh 51FMH
LE==0 8792 kWh 131FM 7.327 kWh 109FH 8,792 KWh 131FM 8,792 kWh 131FMH
EHENE
jeE2=0) 63879 kWh 95FH 27977 kWh 385FFA 20970 kWh 289FM 20,970 kWh 289FH
WS 0 kWh OFAH 0 kWh 385FMH O kWh OFA 0 kWh OFAH
3 BIRABNNE 18968 kWh X 040 = 8FH 38051 KWh X 040 = 15FM 33059 kWh X 040 = 13FA 33059 kWh X 040 = 13FH
; MHEEER (H2551088m) 18968 kWh X 190 = 36FH 38051 kWh X 1.90 = 72¥H 33059 kWh X 190 = 63FH 33059 kWh X 1.90 = 63FH
g gt 768FM 1.444FH3 995FM 995FH
'% EBNE 28626 L X 75 B/L 2147Fm oL X 75 B/L OFA oL X 75 A/L OFA 10735 L X 75 M/L 805FH
LPGRIE O ke X 100 M/ke OFA O ke X 100 M/kg OFA 8,588 kg X 100 MA/ke 859FH O ke X 100 M/ke OFM
& &t 2915FH 1,444FH 1,854FH 1,800FH
FlE= B A1,472 TH A1,062 TH A1,115 FH
IS B2 A50% A36% A38%
N (BE/ER) 976 GJ/MWh 185 GJ X 00258 KL/GJ = SKL 371 GJ X 00258 KL/GJ = 10KL 323 GJ X 00258 KL/GJ = 8KL 323 GJ X 00258 KL/GJ = 8KL
=) 39.1 MJ/L 1,119 GJ X 00258 KL/GJ = 29KL 0GJ X 00258 KL/GJ = OKL 0GJ X 00258 KL/GJ = OKL 420 GJ X 00258 KL/GJ = 11KL
R |LPG 502 MJ/ke 0GJ X 00258 KL/GJ = OKL 0GJ X 00258 KL/GJ = OKL 431 GJ X 00258 KL/GJ = 11KL 0GJ X 00258 KL/GJ = OKL
ac
EY -
o g &t 34KL 10KL 19KL 19KL
22
1
Fl= B A24 KL A15 KL A15 KL
BlimiEe B AT1% A44% A44%
kvl 0406 ke-CO/kh| 19 MWh X 0406 ke-CO2/KWh = 8t-CO2 38 MWh X 0.406 ke-CO2/KWh = 15t-CO2 33 MWh X 0.406 ke-CO2/KWh = 13t-C02 33 MWh X 0406 kg-CO2/KWh = 13t-C02
il 271 ke-CO2/L 28626 L X 271 kg-CO2/L = 78t-CO2 oL X 271 kg-CO2/L = Oot-Co2 oL X 271 kg-CO2/L = Ot-Co2 10,735 L X 271 kg-CO2/L = 29t-CO2
8 LPG 300 ke-CO,/ke Oke X 300 kg-CO2/kg = 0t-Co2 Oke X 300 ke-CO2/ke = 0t-Co2 8588 ke X 300 kg-CO2/kg = 26t-C02 Oke X 3.00 kg-CO2/ke = 0t-Co2
2
* g &t 86t-CO2 15t-CO2 39t-C02 42t-C0O2
g
FHE B AT71 t-CO2 A4T -CO2 A44 +-CO2
EHEES B A83% A55% A51%
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